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Mathematics P2 Memo

Question 1
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v v vV (plotting points, —1 per mistake)
v’ (drawing line of best fit)

1.3 134 passengers v v (depended on their line of best fit) (2)
7/

Question 2

2118-0=8"V (1)

212x=2vv
20

=3,05Vv (3)
2133vv 2)
2141V (1)
2.1.5 Thursday v/ (1)

108‘/ v
22 28,180=>54v (3)
360
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Question 3

3.1

3.2

v
900 x 10,93 = R9837 v

18500 = P(1+ 0,17 x 2,5) v’V (substitution & formula)

.~ P =R12982,46 vV

Question 4

4.1

4.21

v
520 + 1.14 = R456,14 v

5170 x 0.1 = R517 v

v

4.2.2 A=4653(1+0.09 x 3) v (substitution & formula)

423

= R5909,31 vV

v

5909,31 = 164,15 v (rounding)

36

Question 5

5.1

5.2

x% =202 + 212 v (Pyth)

m? = 1052
=11025Vv

k? 4+ [? = 522 4+ 852
=9929 v
m? >k?+1%v or11025>9929

v
. Obtused angled scalene triangle v

20

52

105

(2)

(4)
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(2)

(1)

(2)
19/

(2)



=90° v
53 AE LBDor s AED =90 If they state AE L BD or £ AED = 90°,

4‘/ 2 therefor 6; 8; 10 Pythagoras triangle...7/7
(5x) +x%=10%v

3 A

F o x?+x2 =100 v "

.25 9

LY XS = 100 v 5 _ b

~x2 =36V

cx=6v (7)

C 14/

Question 6
6.1.1 rhombus v/ (1)
6.1.2 trapezium v/ (1)
6.2.1 AB = 5cm v/(AB = AD) v (2)

v
6.2.2 y +y + 85° + 50° = 360° v (sum of angles in a quad) v
A

fy=112,5° v (5)
19/
Question 7

7.1 a=105°v (vertical opp £L’s=) Vv
b = 75° v/(Co-int. angles, AB // CD) v
¢ = 75° v (straight line / corresp. angles AB // CD) v




7.2 4x =x+ 30° v(Alt. angles, AB // CD) v

~3x=30°V A > : B
wx=10°V . (4)
C x + 30°\\ D
/
7.3
3x + 3x + 6x = 180° v (£’s of isos.A) v'v'or LACB = 3x (/’s opp = sides)v’
#12x = 180° v 3x 4 3x + 6x = 180° v (int £’'s of A) v/
nx=15°V s 12x = 180° v
y = 3(15°) + 6(15°) (Ext. angle) v ~x =15V
A C D
ny=135°V x )

or y = 180° — 3(15°) (£’s on straight line) v’
y = 1350 v B (7)

A
7.4 +C =2x—10° v (Corresp. angles, DE // BC) v

4x + 30° 4+ 2x — 10° + 64° = 180° v' (angles of A)
W 6x =96°V

“x =16°V D7
or 4x + 30° \

¢D; = 180° — 64° — (2x — 10°) v (angles of A) v
=126°—2x vV
4x + 30° = 126° — 2x v (Corresp. angles, DE // BC) v
& 6x =96°
ax=16°V (6)
123/



Question 8

1 v v v
8.1.1 TSA =2 (5 X 2,5 X 3) +3%x4,2+2(292x42)

2,92m

= 44,63m? v (4)

8.1.2 Volume = % X 2,5%X3x%x4,2 \/\/ZSm
= 15,75m3 v

3)

3m
v
82 EB?=132-1,2%V
~EB=05V

v v
Area =0,2x 0,5+ 0,2 x 0,25
= 0,15m? v (6)

D 02m E

1,3m

I1m



8.3 Area of PQR = ”(23/)2 v

= 14,14cm? v
Area of non-shaded part VXUYT = % X 14,14 v

= 0,05cm? v
Area of WXYS =2 x 3
= 6cm? v
Area of shaded part = 14,14 + 6 — 0,05 v
= 20,09cm? v (8)

121]



http://www.tcpdf.org

